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KAYAK PURCHASE DATABASE
1. CREATE FOUR TABLEs-- KAYAKS, CUSTOMERS, PURCHASES,  and DISCOUNTS--given the following information: 

You may pick arbitrary data types for the attributes (NUMBER, VARCHAR2, DATE, etc.)

TABLE KAYAKS (Kayak ID, Kayak_Manufacturer, Kayak_Model, Kayak_Year, Kayak_Length, Kayak_Type (touring, sea), Kayak_Price) 
TABLE CUSTOMERS (Customer ID, Customer_last_name, Customer_First_name, Customer_Street, Customer_City, Customer_State, Customer_Zip, Customer_Phone) 

TABLE DISCOUNTS (Kayak ID, Customer ID, Discount_percentage) 

TABLE PURCHASES (Purchase ID, Purchase_Date, Purchase_Time, Purchase_Total) 
Business rules: 

--A single kayak can be purchased only by 1 or many customers; a single customer can purchase zero or many kayaks.
--A customer can make zero or many purchases; a single purchase is completed by only one customer. 
--Discount percentages are tracked for all customers who purchase kayaks. One a year, the database automatically computes the total purchases of kayaks for each customer each year, as well as the customer's yearly discounts on any kayak. 

Solution: 

Create this table first, as it has the primary for the foreign key needed later (customer_ID): 

CREATE TABLE customers

(customer_ID number (6),

customer_last_name varchar2 (26),

customer_first_name varchar2 (26),

customer_street varchar2 (26),

customer_city varchar2 (26),

customer_state char(2),

customer_zip varchar2(10), 

customer_phone varchar2 (12),

CONSTRAINT customers_customer_id_pk PRIMARY KEY (customer_id)); 

Create this table 2nd…  

CREATE TABLE kayaks

(kayak_ID number (6),

kayak_manufacturer varchar2 (26),

kayak_model varchar2 (26),

kayak_year char (4), 

kayak_length number (2), 

kayak_type varchar2 (26),

kayak_price number (9), 
CONSTRAINT kayaks_kayak_id_pk PRIMARY KEY (kayak_id)); 
Create this table 3rd because it contains the two primary keys from CUSTOMERS and KAYAKS.
CREATE TABLE discounts

(kayak_ID number (6),

customer_id number (6), 

discount_percentage number (6),

CONSTRAINT discounts_kayak_id_cust_id_pk PRIMARY KEY (kayak_id, customer_id)); 

Create this table last as it has the foreign key from CUSTOMERS. 
CREATE TABLE purchases
(purchase_ID number (6),
Purchase_date date, 

Purchase_time timestamp, 

Purchase_total number (6), 
customer_id number (6), 
CONSTRAINT purchases_purchase_id_pk PRIMARY KEY (purchase_id),

CONSTRAINT purchases_cust_id_fk FOREIGN KEY (customer_id) REFERENCES customers(customer_id));

---------------------------------------------------------------

2. DESCRIBE the tables KAYAKS, CUSTOMERS, PURCHASES, and DISCOUNTS

Solution: 
describe KAYAKS;

describe CUSTOMERS;

describe DISCOUNTS; 
describe PURCHASES; 
SQL> describe customers;

 Name                                      Null?    Type

 ----------------------------------------- -------- ------------------

 CUSTOMER_ID                               NOT NULL NUMBER(6)

 CUSTOMER_LAST_NAME                                 VARCHAR2(26)

 CUSTOMER_FIRST_NAME                                VARCHAR2(26)

 CUSTOMER_STREET                                    VARCHAR2(26)

 CUSTOMER_CITY                                      VARCHAR2(26)

 CUSTOMER_STATE                                     CHAR(2)

 CUSTOMER_ZIP                                       VARCHAR2(10)

 CUSTOMER_PHONE                                     VARCHAR2(12)

SQL> describe kayaks;

 Name                                      Null?    Type

 ----------------------------------------- -------- ------------------

 KAYAK_ID                                  NOT NULL NUMBER(6)

 KAYAK_MANUFACTURER                                 VARCHAR2(26)

 KAYAK_MODEL                                        VARCHAR2(26)

 KAYAK_YEAR                                         CHAR(4)

 KAYAK_LENGTH                                       NUMBER(2)

 KAYAK_TYPE                                         VARCHAR2(26)

 KAYAK_PRICE                                        NUMBER(9)

 CUSTOMER_ID                                        NUMBER(6)

SQL> describe discounts;

 Name                                      Null?    Type

 ----------------------------------------- -------- ----------------------------

 KAYAK_ID                                  NOT NULL NUMBER(6)

 CUSTOMER_ID                               NOT NULL NUMBER(6)

 DISCOUNT_PERCENTAGE                                NUMBER(6)
SQL> describe purchases;

 Name                                      Null?    Type

 ----------------------------------------- -------- ----------------------------

 PURCHASE_ID                               NOT NULL NUMBER(6)

 PURCHASE_DATE                                      DATE

 PURCHASE_TIME                                      TIMESTAMP(6)

 PURCHASE_TOTAL                                     NUMBER(6)

 CUSTOMER_ID                                        NUMBER(6)

3. What is wrong with the following SQL table creation command? 

SQL> CREATE TABLE kayaks

  2  (kayak_ID number (6),

  3  kayak_manufacturer varchar2 (26),

  4  kayak_model varchar2 (26),

  5  kayak_year char (4), 

  6  kayak_length number (2), 

  7  kayak_type varchar2 (26),

  8  kayak_price number (9), 

  9  customer_id number (6), 

 10  CONSTRAINT kayaks_kayak_id_pk PRIMARY KEY (kayak_id)

 11  CONSTRAINT kayaks_cust_id_fk FOREIGN KEY (customer_id) REFERENCES customers(customer_id));

Error Message when the code is run: 
CONSTRAINT kayaks_cust_id_fk FOREIGN KEY (customer_id) REFERENCES customers(customer_id))

*

ERROR at line 11:

ORA-00907: missing right parenthesis

Solution: missing a comma at th end of line 10--even though the error message indicates a problem  with line 11.  

--------------------------------------------------------------------------

4. DROP TABLES kayaks, customers, purchases, and discounts

drop table kayaks; 

drop table discounts;

drop table customers; 
drop table purchases; 
Question: In which order must you drop the reports?  Why? 

You must drop the table PURCHASES last, as it has the foreign key referenced in CUSTOMERS, which  cannot be null. 

